Name

Practice Problems Topics  15 


1. 
Find the following values:

P(Z < -1.5)

P(Z > 1.5)

P(Z > -1.5)

P(-1.5 < Z < 1.5)

P(Z < -1.5 and 1.5 <  Z)

2.
Assuming that the parameters for a particular variable are ( = 84 and a ( = 15 find the following probabilities (calculate by finding the associated Z-score and then the probability): 

P(x < 75) = 

P(x > 75) =

P( 75 < x < 93) =

P(x > 93) = 

3.
A plant that manufactures resistors, is producing resistors with target a resistance of 125 ohms.  The plant calculates that mean of the resistance is in fact 125 ohms, and the standard deviation is 8.2.  
What percent of resistors are less than 115 Ohms?

What Percent of resistors are less than 125 ohms?

What percent of the resistors are between 115 and 125 ohms?
The sensitivity needed for these resistors is that 95% of the resistors must be within 10% of the target value.  What is the worst the standard deviation can be in order to accomplish this?


